GEOG 2010 – Final Exam
Introduction to Physical Geography (R. Adam Dastrup)
True/False
1. Mumbai is an excellent example of a primate city.
2. One reason for cities is the reduced transportation costs.
3. A critical aspect of the creation of resilient cities is in the construction of physical infrastructure, that can absorb the shocks and stresses created by extreme weather events.
4. In virtually all cases, the contribution of urban areas to national income is less significant than their share of the national population.
5. A megacity is pegged as any city with more than 1 million residents.
6. Currently, no social scientist or governmental agency like the United Nations has found a country where women are treated equally to men.
7. Over one billion people currently live in extreme poverty, a term used to define people who live on less than $1.25 a day for food, water, and shelter.
8. The First Industrial Revolution used electric power to create mass production.
9. Now a Fourth Industrial Revolution is building on the Third, the digital revolution that has been occurring since the middle of the last century.
10. In 2002, the United Nations created the Millennium Development Goals (MDGs) to reduce extreme poverty which are broken down into six smaller goals.
11. So far, global warming has affected the South Pole more than the North Pole, but temperatures are still increasing at Antarctica.
12. Secondary pollution happens when a primary pollutant reacts with another primary pollutant, sunlight, and water to create a different pollutant.
13. Chlorofluorocarbons (CFCs), used for things such as refrigeration and air conditioners have no effect on the ozone.
14. Many of the fertilizers in farmers and the cleaners we use can create algae blooms in our local rivers.
15. Trees are a nonrenewable resource.
16. Intensification refers to the amount of production per unit of land that is extracted for human use.
17. Aquaculture is not in direct competition with natural marine and freshwater habitats for space.
18. The most abundant type of agriculture practiced around the world is intensive subsistence agriculture.
19. The world’s cultivated land has grown by 12 percent over the last 50 years, mostly at the expense of forest, wetland and grassland habitats.
20. In some regions, particularly in the Middle East, Northern Africa, and Central Asia, countries are already using water resources more than what is available.


Multiple Choice

21. An estimated one-third of all food produced – equivalent to 1.3 billion tons worth around $1 trillion – ends up rotting in the bins of consumers and retailers, or spoiling. Select the reason(s) that apply:
a. lack of secondary distribution plan
b. poor transportation
c. poor harvesting practices
d. both b and c
e. all answers

22. An environmentally responsible travel to natural areas, in order to enjoy and appreciate nature (and accompanying cultural features, both past, and present) that promote conservation, have a low visitor impact and provide for beneficially active socio-economic involvement of local peoples is known as:
a. ecotourism
b. ecotravel
c. ecoresponse
d. envirotravel

23. How much of the world’s population is Urban?
a. 5%
b. 10%
c. 25%
d. 50%

24. The central business district is:
a. the main shopping and financial heart of a city
b. governmental nucleus
c. most populous area
d. contains main hubs of transportation

25. Hexagonal shaped trade areas that surround towns are examples of:
a. Christaller's model of central places
b. Von Thunen’s model
c. Urban sprawl
d. Primate cities

26. All of the following are primary activities EXCEPT:
a. shipping
b. agriculture
c. mining
d. forestry

27. The United States' labor force is primarily focused on:
a. Primary activities
b. Secondary activities
c. Tertiary activities
d. All

28. Services constitute over 50 percent of income to citizens in
a. Low-income nations
b. High-income nations
c. Tech derived nations
d. None of the above

29. There are several elements that are responsible for the expansion of the global economy during the past several decades.  Which of the following is not responsible for this expansion?
a. NAFTA
b. New information technology
c. Tariffs on China
d. Reduction of transportation costs

30. In advanced and developing countries, men are over-represented in:
a. Management and legislative positions
b. plants
c. crafts
d. all categories listed

31. This fossil fuel has the lowest negative impact on the environment:
a. crude oil
b. coal
c. oil shale
d. natural gas

32. Where is North America’s largest rain forest located?
a. Alaska
b. Florida
c. Toronto
d. California

33. Desertification is a high risk in this part of the world:
a. Australia
b. Africa
c. Russia
d. India

34. Most tropical rain forests are located in:
a. Amazon basin of South America
b. Central Africa
c. Southeast Asia
d. All of the above

35. The third source of nonrenewable energy is:
a. nuclear
b. solar
c. hydroelectric
d. groundwater

36. To overcome the potential difficulties involved in image recognition, professional image interpreters use some characteristics to help them identify remotely sensed objects. Some of these characteristics include:
a. Shape
b. Shadow
c. Texture
d. All of the answer options

37. Depicting the Earth’s three-dimensional surface on a two-dimensional map creates a variety of distortions that involve:
a. distance, area, and direction
b. perception
c. acreage
d. view point

38. Absolute location is the exact _____ coordinate on the Earth. 
a. Latitude and longitude
b. X and Y
c. Street Address
d. A and B
e. None of the above


39. An example of a large-scale map is a ________.
a. Choropleth
b. Quad map
c. Standard topographic map
d. Weather map
e. Atlas

40. To create an air mass, the source region’s surface must be relatively
a. Flat and diverse
b. [bookmark: _GoBack]Flat and uniform
c. Hilly and diverse
d. Hilly and uniform

